TEF:	
ASS. FEO. BY: CS CTIO	2006981 Acy3
A	SSIGNMENT
From: Date:	Veh No: SKM 3373E . Yr Regn: 2019, Oct.
Estimated Cost:	Typer M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP/WS/TP RES/OD RES/EVA/INV/MV	Truck / Trailer or
To Inspect Vehicle No:	Make: Honda Civic c.c 1597
at Worlshop m/s	Colour Bue A/C: Insured / Std / NI / NA
of	Sp.Reading T/Radio: Insured / Std / NI / NA
Insured	Eng/No:
Policy No.	C/No: MRHFC 56 SOKT-001053
Claims No.	Gen. Cond: Good / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: (norder/ Jammed / Leaked / Burnt or
(Client's Record)	Brake: (norder/ Jammed / Leaked / Burnt or
Make of Veh:	Modí: Nil /S/Rim / STD A/Rim or
	Tyre Size: F: 215/55 R/6-
(Policy Condition)	R: 215/55R16.
	BS (DUN) EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO/YOKO or
Bal. or Market Value:	Front Rear
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. 06 mm R/Bal. 06 mm
GIA / PR Seen: Consistent?: Yes or No Est. Repairs: 13 days Res.: Yes or No	L/Bal. 06 mm L/Bal. 06 mm D.O.I. 20/07/2.2
Lum Sum: % 3 Val.: Yes or No	Survey held at HD Restect.
	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
CA / REV / REP. / 24 HRS Vehicle: IN /	
Date:Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time Action / Instruction	
TP China.	201 10 20 21 2 2
GLO Finalised LS R94007; 13 da	ys with repairer. (Red. 14,054.56, 60%)
mv : 1001	
PV: 40.1K	
Nett: 59.9K	
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 13
1) : Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	Transportation:
a) /Add	ter and
Remore Former	Intalvava (\$) Fhotos
Report Formet :	Tech. Inva (4) other

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID:	565D
Vehicle Details	
Vehicle No.:	SKM3373E
Vehicle to be <code>Fxported</code> :	No
Intended Deregistration Date:	21 Jul 2022
Vehicle Make:	HONDA
Vehicle Model:	CIVIC 1.6 VTI CVT
Primary Colour:	Blue
Manufacturing Year	2019
Engine No.:	R16B25511170
Chassis No.:	MRHFC5650KT001053
Maximum Power Output:	92.0 kW (123 bhp)
Open Market Value:	\$20,433.00
Original Registration Date:	17 Oct 2019
First Registration Date:	17 Oct 2019
Transfer Count:	0
Actual ARF Paid:	\$20,607.00
Intended PARF Rebate Details	
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	16 Oct 2029
PARF Rebate Amount: Intended COE Rebate Details	\$15,455.00
COE Expiry Date:	16 Oct 2029
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$34,001.00
COE Rebate Amount:	\$24,598.00
Total Rebate Amount:	\$40,053.00

The information contained herein is correct as at 21 Jul 2022



Posted: 03-Jun-2022



Honda Civic 1.6A VTi

\$98,777

\$12,420 /yr

10-Sep-2019

1,597 cc

Sedan

Available

This sporty black beauty proves that power and fuel efficiency need not be mutually exclusive. Well-loved by sole owner, in immaculate condition. 100% loan and high trade in available, call for a no obligation test drive and viewing today!

PREMIUM AD

Posted: 16-Jul-2022



Honda Civic 1.6A VTi

\$99,888

\$12,570 /yr

12-Sep-2019

1,597 cc 34,430 km Sedan

Available

Classic Alabaster Silver Metallic Unit! Probably The Best In Class Executive Sedan For This 10 Generation Series. Be It Space, Performance Or Reliability It Definitely Has Its All. This Unit Is Also Fully Maintain By Agent (Kah Motors) With 5 Years Agent Warranty Coverage Valid.

PREMIUM AD

Sincere Motorina Pte Ltd

Posted: 20-Jul-2022



Honda Civic 1.6A VTi

\$103,000

\$12,870 /yr

10-Oct-2019

1,597 cc

Sedan

Available

New Facelifted Model With DRL! 5 Years On-going Agent Warranty By Kah Motor! Bank Loan/in House Financing Available, Over Trade For Your Used Car, Buyback Guarantee, Attractive Grooming Package.

AutoPrestige Gallery Pte Ltd

Posted: 12-Jul-2022



Honda Civic 1.5A VTEC Turbo Sunroof

\$127,800

\$15,470 /yr

14-Nov-2019

1.498 cc

45,000 km

30,144 km

Sedan

Available

PREMIUM AD

1 Careful Owner, Full Agent Maintained, Low Depreciation, Fuel Efficiency, Easy Financing, Flexible Loan Available, Accident Free, 6 Months Free Servicing By Reputable Workshop With 40 Years Experience In The Market For A Peace Of Mind, Call For Viewing/test Drive Now.

SG Car Choice Pte Ltd

Posted: 11-Jul-2022



Honda Civic 1.6A VTi

\$106,988

\$13,150 /yr

28-Nov-2019

1,597 cc

37,000 km

Available

Sedan

1 Owner! Syear Agent Warranty Given! Low Mileage, Fully Serviced By Kah Motors! One Of The Most Popular Sedan In The Market. Responsive Engine Performance With Fuel Efficiency Mode. Pristine Condition. Best Drive Among All The Japanese Cars! Call Now For A T...

Carz World Pte Ltd Posted: 19-Jul-2022

Save this search criteria, to get email alerts whenever a match is found.

Make

Depreciation

Reg Date

Eng Cap

Mileage

Veh Type

Status

For old advertisements, view Expired ads

results/page

Buy / Rent Cars	Sell Your Car	Aftermarket	Articles	General
New Cars For Sale	Post an Ad	Workshop Directory	Car Reviews	About Us
Used Cars For Sale	Sell by Bidding	Aftermarket Products	Car Advice	Contact Us
Cars For Rent	Sell by Consignment		Car News	Careers
			Car Features	Site Map

Resources

COE Prices

Car Forum

Car Loan Calculators

Car Insurance

Used Car Warranty

Car Valuation COE Renewal

Bidded Carplates Carpark Rates

Follow Sgcarmart.com



Sgcarmart is the number one car classifieds for parallel import cars, Toyota, Honda, Nissan, Mitsubishi & BMW. There are plenty of cars for sale, from vans, trucks, sedan cars, luxury cars, sports cars or sta hatchback, to COE cars & OPC cars. You can also buy from a car auction, look up car loans, low mileage cars, car brands, carpark rates & car insurance. Find buy I civic Singapore, used civic, used vehicles Singapore or even buy used civic Singapore. We have new car dealers comprising parallel importers, authorised car rour site. Find new car price lists, new car launches and new car promotions. Visit our partner sites for job openings for Singapore jobs, real estate, mover, car de Compare



SINGAPORE ACCIDENT STATEMENT

Accident Details

Who reported the accide	ent? Ow	ner / Driver / Both
Date of Accident:	20[7]22	
Time of Accident:	67:20	(AØ/PM
Location of Accident:	Juray Island Hw	5
Country/State of Loss:	Singapore	
Type of Accident:	Mead To Rear	
Weather Condition: Clea	r / Raining	Road Surface: Dry / Wet
If Not in List, please speci	ify	
Are you claiming under your volicy for repair to your v		Yes / No
If No, please state action	to be taken	Third Party / Reporting Only
Was any foreign vehicle in	nvolved in accident?	Yes / No
If yes, please state Vehicle	e No & Vehicle Type:	
No. of vehicles Involved in	n the accident (include	own vehicle) <u>92</u>
Has the driver been approaccident claims assistance		erson(s) soliciting/offering Yes / No
Was the accident reporte	d to the police?	Yes / No
If yes, police station name	e:	
Was notice of Prosecution	n given?	Yes No
If yes, against whom?		
<u>Files</u>		
Are accident photos availa	able for attachment?	Yes / No
Was there any video capt	ured?	Yes / No
Was there any audio capt	ured?	Yes / No

Details of Own Vehicle Vehicle Registration No: _____Skm 3373E Vehicle Category: Vehicle Manufacturer: Cc: 1.6 Manual / Auto Transmission: Exact purpose for which vehicle was being used at the time of accident: Private Car / Private Use / Employment No. of passengers (including driver) Passenger Name: Gender: Male / Female Passenger Name: Gender: Male / Female Own Vehicle Policy Handling Insurer: MUL Coverage Type: ACT / Comprehensive / Third Party / Third Party, Fire & Theft Yes / No Fleet Policy: Koh See Juan Registered Owner Name: UEN / NRIC / Passport or FIN / Work Permit ID Type: S129 L565D Registered Owner ID: See juan 3373 @gmail.com Email: 91020469 Mobile No: Alt. No Type: Home / Office / Not in List If Not in List, please specify Owner Alt Phone No:

Driver's Information	
Is the driver the policy holder?	? Ves / No
Name of Driver:	
Gender:	Male / Female
ID Type:	NRIC / Passport or FIN / Work Permit
Driver's ID:	
Date of Birth:	06 Dec 1958
Driving Pass Date:	21 00 2000
Mobile No:	
Email:	
Address 1:	816 Jellicoe Ry HO4-06
Address 2:	Postal Code: 200816
Occupation:	Indoor / Outdoor
Driver Owner Relationship	
Does Driver own other vehicles	s? Yes / Ng
If yes, please provide Vehicle R	egistration No:
Handling Insurer:	
TP Vehicle or Property	
Was there any other vehicle or	property damaged? Yes / No
If yes, please provide:	
(i) Vehicle Registration N	
(ii) Vehicle Category:	cluding driver)
_	cluding driver)
Gender: Male / Fema	ale

<u>Translat</u>	<u>ion</u>		
Was the	Sketch Plan Sta	atement translated from another language	?
Yes N			
Name of	Translator:		
ID Type:	NR	RIC / Passport or FIN / Work Permit	
Phone N	lo:		
Email:			
What is	the original lang	guage used in the statement?	
English /	Mandarin / Ma	alay / Tamil / Others:	
Please a	ttach the follow	ving documents:	
	riginal report in anslated report	original language t to English	
<u>Injured F</u>	Person's Details	i	
Was any	one injured in t	he accident? Ves / No hospital by Ambulance? Yes / No	
Any inju	red conveyed to	hospital by Ambulance? Yes / No	
If yes, ple	ease provide:		
(i)	Name:	koh see Juan	
(ii)	Gender:	Male / Female in which Vehicle? \$ たい33 7 3	
(iii) (iv)	Full Address:	in which Vehicle?	<u>L</u>
Witness	<u>Details</u>		
Was ther	e any witnesses	s? Yes / Mo	
If yes, ple	ease provide:	V	
Witness I	Name:		
Witness (Contact:		

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- This Form must be completed by the Policyholder and/or the Actual Driver.
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- Any false reporting may be referred to the Traffic Police Department for investigation.
- 6. This report will be forwarded by the insurers to the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of:
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims. (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third-party service providers or agents (including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

Policyholder's Signature / Date & Time

Driver's Signature (if driver is not the policyholder) / Date & Time

Witnessed by Reporting Centre Personnel (Name as in NRIC/ID card)

LMA: SKM3373E				

Von 8-6366016E	L CALLES		A Administration of the Control of t	
	\$10.000 miles 11.000			
		·····	***************************************	777007111111111111111111111111111111111
		B		
000 1 000 1	***************************************		***************************************	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				
		I I I I I I I I I I I I I I I I I I I		A CONTRACTOR OF THE CONTRACTOR
479 4 1000 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	127-100-0-1-1-00/2-2-2-0-0000-1-2-00012-2-00013-2-00013-2-0001	A A A		
			1,0000 (1,0000 (1,0000)	0000 to 0.0000m to 0.000mm s x 4 80000 n 5 80000 n 1 2000

Describe Circumstance of the Accident	
	<i>f</i>
	/ \
	\sim
	X
	1 /
	N
	V
0 /	
XCX	
/	

Declaration

I/We declare the foregoing particulars are true in every respect.

Policyholder's Signature / Date & Time

Driver's Signature (if driver is not the policyholder) / Date & Time

Witnessed by Reporting Centre Personnel (Name as in NRIC/ID card)

ON THE STATED DATE AND TIME. I, VEHICLE A (SKM3373E) WAS TRAVELLING STRAIGHT ON LANE 1 OF JURONG ISLAND HIGHWAY. WHEN THE TRAFFIC LIGHT TURNS AMBER I SLOWED DOWN AND STOP. SUDDENLY I FELT A HUGE IMPACT FROM THE REAR PORTION OF MY STATIONARY VEHICLE.

AFTER I ALIGHTED I THEN REALISE THAT IS VEHICLE B (GBG6016E) THAT HAD COLLIDED ONTO MY VEHICLE.

VEHICLE A: SKM3373E

VEHICLE B: GBG6016E

M.

HD Perfect Autowork Pte Ltd

Company Reg No: 202136904Z

8 Kaki Bukit Ave 4, #08-09 Premier@Kaki Bukit Singapore 415875

Tel: 6341 6789

Fax: 6341 6778

E-mail: hdperfectautowork@gmail.com



HD PERFECT AUTOWORK PTE LTD

MRH FCS650K720105

DATE: 20.07.2022

TO

: CHINA TAIPING MOTOR CLAIMS DEPTS

VEHICLE NO

: SKM3373E

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 20.07.2022

TIME OF ACCIDENT

: 07:20HRS

WE APPEND HEREUNDER THE ESTIMATED COST OF REPAIRS TO BE CARRIED OUT TO THE ABOVE VEHICLE.

CLAIM DETAIL : PARTS

S/N	IM DETAIL : PARTS DESCRIPTION	QTY	U	NIT LIST PRICE		TAL LIST PRICE	
1	REAR BUMPER Pistal	1	\$	617.70	\$	617.70	
2	REAR BUMPER DIFFUSER (CENTER) This like	1	\$	452.00	\$	452.00	~ 365
3	REAR BUMPER DIFFUSER CHROME	1	\$	283.40	\$	283.40	
4	REAR BUMPER REFLECTOR HE ~	2	\$	86.00	\$	172.00	1
5	REAR BUMPER REFLECTOR GARNISH ax	2	\$	19.80	\$	39.60	
6	REAR BUMPER SIDE RETAINER	2	\$	17.20	\$	34.40	
7	REAR BUMPER REINFORCEMENT Diffeld	1	\$	260.40	\$	260.40	
8	REAR BUMPER CORNER REFTAINER	2	\$	19.80	\$	39.60	
9	REAR REVERSE SENSOR 3 piers and	4	\$	155.40	\$	621.60	-466.2
10	REAR REVERSE SENSOR HOLDER	4	\$	47.20	\$	188.80	-1
11	REAR REVERSE SENSOR WIRE HARNIESS	1	\$	243.60	\$	243.60	*
12	REVERSE CAMERA	1	\$	986.20	\$	986.20	= 4095H)
13	TAILLAMP Onled	2	\$	298.40	\$	596.80	
14	TAILLAMP PANEL Bucked	2	\$	79.30	\$	158.60	
15	REAR FENDER Rei LH Buckerd	2	\$	812.70	\$	1,625.40	+ 812-70
16	REAR FENDER COWLING MA	2	\$	89.40	\$	178.80	X
1	REAR FENDER INNER TRIM KOLA	2	\$	155.70	\$	311.40	- 21 2
1	REAR FENDER INNER SUPPORT PANEL	2	\$	396.30	\$	792.60	+ 386 3U
1	REAR FENDER AIR VENT LH	1	\$	19.20	\$	19.20	×
2	REAR WHEEL HOUSE PANEL Park	2	\$	864.00	s	1,728.00	X
2	1 REAR QUARTER GLASS C/W MOULDING RHM	1	\$	399.70	\$	399.70	\$8.30
2	REAR WINDSCREEN MOULDING (LOWER)	1	\$	196.40	\$	196.40	4

TO

: CHINA TAIPING MOTOR CLAIMS DEPTS

VEHICLE NO

: SKM3373E

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 20.07.2022

TIME OF ACCIDENT

: 07:20HRS

23	REAR SPEAKER PANEL Ne n-	1	\$ 924.00	\$	924.00	+
24	BOOTLID Pistola	1	\$ 554.90	\$	554.90	
25	BOOTLID CENTER GARNISH COUL	1	\$ 210.90	\$	210.90	/
26	BOOTLID INNER STOPPER KLIN	2	\$ 18.90	\$	37.80	1
27	BOOTLID INSULATOR Deld	1	\$ 52.40	\$	52.40	
28	BOOTLID LOGO	1	\$ 95.40	\$	95.40	-
29	BOOTLID EMBLEM 'CIVIC'	1	\$ 83.70	\$	83.70	
30	BOOTLID EMBLEM ' I-VTECH'	1	\$ 86.50	\$	86.50	
31	BOOTLID HINGE Bent	2	\$ 58.90	\$	117.80	
32	BOOTLID HINGE COVER GARNISH	2	\$ 24.30	\$	48.60	
33	BOOTLID TOP LOCK Tand.	1	\$ 81.20	\$	81.20	-
34	BOOTLID LOWER LOCK ~~~	1	\$ 16.90	\$	16.90	+
35	BOOTLID WEATHER STRIP 4	1	\$ 70.20	\$	70.20	
36	BOOTLID DETECTOR Creden	1	\$ 58.10	\$.	58.10	
37	BOOTLID DETECTOR WIRE HARNESS	1	\$ 286.40	\$	286.40	٧.
38	BOOTLID BUZZER auc &	1	\$ 80.40	\$	80.40	-
39	BOOTLID OUTER SWITCH BUTTON	1	\$ 287.10	\$	287.10	+
40	REAR END PANEL Vista, 11	1	\$ 314.70	\$	314.70	
41	REAR END PANEL TOP GARNISH DE	1	\$ 60.80	\$	60.80	
42	REAR FLOOR PANEL Guilerd	1	\$ 975.00	\$	975.00	
43	REAR FLOOR SIDE PANEL LA Distorted	2	\$ 293.00	\$	586.00	12) 5
44	REAR FLOOR PANEL TOP BOARD 4015	1	\$ 95.80	\$	95.80	0
45	REAR CHASSIS MEMBER LH RES	1	\$ 734.90	\$	734.90	1.

SN. 400 8348.60 6678.88

TOTAL PRICE

\$ 15,805.70

LESS 20%

3,161.14

SUB TOTAL PRICE

12,644.56

S/N	DESCRIPTION	QTY	UNI	T S/NETT	TOTAL	S/NETT	
1	REAR NUMBER PLATE Bent	1	\$	80.00	\$	80,00	. 60
2	REAR BUMPER CLIP (SET)	1	\$	80.00	\$	80.00	. 30
3	TAIL LAMP CLIP (SET)	1	\$	60.00	\$	60.00	-20
4	TAILLAMP PANEL SEALANT NW	2	\$	60.00	\$	120.00	20
5	BOOTLID INSULATOR CLIP (SET) MU	1	\$	80.00	\$	80.00	20
6	BOOTLID HINGE COVER CLIP (SET)	1	\$	60.00	\$	60.00	12

TO

: CHINA TAIPING MOTOR CLAIMS DEPTS

VEHICLE NO

: SKM3373E

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 20.07.2022

TIME OF ACCIDENT

: 07:20HRS

1	\$	60.00		02 7 20
	7	60.00	\$	60.00
2	\$	150.00	\$	300.00
1	\$	80.00	\$	80.00
1	\$	80.00	\$	80,00 60
1 2	\$	150.00	\$	300.00 +
2	\$	80.00	\$	160.00 *
2	\$	60.00	\$	120.00
2	\$	150.00	\$	300.00
1	\$	150.00	\$	150.00
1	\$	80.00	\$	80.00
1	\$	60.00	\$	60.00
1	\$	250.00	\$	250.00 +
1	\$	60.00	\$	60.00 -20
1	\$	150.00	\$	150.00 60
1	\$	350.00	\$	350.00 20
1	\$	80.00	\$	180.00
	1			
	1 1 1 2 2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1	1 \$ 1 \$ 2 \$ 2 \$ 2 \$ 1 \$ 1 \$ 1 \$ 1 \$ 1 \$	1 \$ 80.00 1 \$ 80.00 2 \$ 150.00 2 \$ 60.00 1 \$ 150.00 1 \$ 80.00 1 \$ 60.00 1 \$ 60.00 1 \$ 150.00 1 \$ 350.00	1 \$ 80.00 \$ 1 \$ 80.00 \$ 1 \$ 80.00 \$ 2 \$ 150.00 \$ 2 \$ 60.00 \$ 2 \$ 150.00 \$ 1 \$ 150.00 \$ 1 \$ 80.00 \$ 1 \$ 60.00 \$ 1 \$ 250.00 \$ 1 \$ 350.00 \$

CLAIM DETAILS: LABOUR AND SPRAY PAINTING

s/N	JOB DESCRIPTION	PRICE	ADJUSTED COST
1	PANEL BEATING, REMOVAL AND REPLACING PARTS	\$ 3,200.00	1840
2	TO SPRAY PAINT AFFECTED AREA	\$ 2,000.00	1200 1500
3	TUFF COAT	\$ 250,00	120
4	WIRING CHECK	\$ 180.00	3)
5	REMOVE AND REFIX CUSHION SEAT/ UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR	\$ 250.00	180
6	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING	\$ 80.00	50
7	REMOVE AND REFIX REVERSE CAMERA AND DISTANCE SETTING	\$ 80.00	Sn
8	CONDUCT WATER LEAKAGE TEST	\$ 100.00	X

TO

: CHINA TAIPING MOTOR CLAIMS DEPTS

VEHICLE NO

: SKM3373E

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 20.07.2022

TIME OF ACCIDENT

: 07:20HRS

9	EMOVE AND REFIX REAR FENDER GLAS	\$ 200.00	€ 60 .
10	REMOVE AND REFIX REAR WINDREEN GALSS	\$ 120.00	×
11	REMOVE AND REFIX REAR SPEAKER PANEL AND RESET AUDIO SYSTEM	\$ 150.00	K
12	TRANSFER BOOTLID MECHANISM	\$ 80.00	- 60
13	REALIGNMENT REAR CHASSIS MEMBER	\$ 250.00	- 180.
14	REMOVE AND REFIX REAR UNDER CARRIAGE	\$ 450.00	*
15	CONDUCT WATER LEAKAGE TEST	\$ 80.00	*
16	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT/CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC.	\$ 180.00	+

TOTAL

7,650.00

ESTIMATE REPORT

TOTAL PARTS COST : \$

15,804.56

TOTAL LABOUR COST : \$

7,650.00

TOTAL REPAIR COST : \$

23,454.56

NB: THIS IS ONLY AN ESTIMATE AND SHOULD ADDITIONAL WORK BE FOUND NECESSARY TO BE CARRIED OUT IN THE COURSE OF REPAIRS, EXTRA MATERIALS AND LABOUR COST WILL BE CHARGED ACCORDINGLY WHICH HOWEVER, YOU WILL BE INFORMED PRIOR TO ACTION TAKEN. PARTS PRICES ARE SUBJECT TO CHANGES.

YOURS FAITHFULLY.

IZENE

SERVICE ADVISOR

IRENE

HP: 8297 9787

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey Parts prices are subject to confirmation

- Third party survey is on a "Without Prejudice" basis No illegal modification(s) is allowed Supplementary item(s) must be resurveyed and

is subject to final approval from Insurance Company Acknowledged by Repairer

Signature:

Date: